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The following table shows the number of players who participated in three sports events E1, E2
and E3 along with the ratio of Male (M) to Female (F) participants among them from six different
countries, namely, India, US, China, Russia, England and Germany.

Based on the data in the table, answer the questions that follow :

Country-wise Details of Participation in Sports Events

Players who Participated in Sports Events
Country El E2 E3

Number | M:F | Number | M:F |Number | M:F
India 480 241 500 17:8 700 9:2
Us 1280 5:3 | 1440 715 1500 5|
China 1100 7:4 | 1160 [13:7 | 1240 31

Russia 1300 8:5 1320 734 1500 8:7
England | 800 Bl 840 99 900 5:4
Germany | 630 | 16:9 728 3.1 750 241

Sub questions

Question Number : 1 Question Id : 53307215429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the total number of female participants in sports events El and E3 together ?
(1) 4274
(2) 4308
(3) 4326
(4) 4334

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 53307215430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of female participants from US in the event E2 to the number of
female participanl‘s from China in the event E3 ?

(1) 60:31
Q) 29:31
(3) 27:31
(4) 58:31

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307215431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of male participants and the number of female
participants in the event E2 from all the six countries together ?

(1) 1724

(2) 1728
(3) 1732
(4) 1734

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307215432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of female participants from India in event E1 is % less than the number
of female participants from Germany in event E3.

(1) 40

Options :
1.1
2.2



3.3
4.4

Question Number : 5 Question Id : 53307215433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The number of participants from China in event E2 is % more than the number of
female participants from US in event E3.

(1) 120
(2) 124
(3) 128
(4) 132
Options :
1.1
2.2
3.3
4.4

Question Id : 53307215428 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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480 | 2:1 | 500 [17:8| 700 | 5:2
180 | 5:3 | 1440 | 7:5 | 1500 | 2:1
100 | 7:4 | 1160 | 13:7 | 1240 | 3:1
1300 | 8:5 | 1320 | 7:4 | 1500 | 8:7
800 | 3:1 | 840 | 9:5 | %00 | 5:4
650 |16:9| 728 | 3:1 | 750 | 2:1
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Sub questions

Question Number : 1 Question Id : 53307215429 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el Yaaifiarel E1 9 E3 ¥ fetert Afeen gfa il =61 ol ge oo & 2
(1) 4274

(2) 4308
(3) 4326
(4) 433
Options :
1.1

2.2

3.3
4.4

Question Number : 2 Question Id : 53307215430 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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() 60:31

(2 2931

@] 27:3

(4) 58:31
Options :
1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307215431 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1724

(2) 1728
(3) 1732
(4) 1734
Options :
1.1

2.2

3.3

4.4

Question Number : 4 Question Id : 53307215432 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 40

(2) 36

3 28

(4] 79

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 53307215433 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) 120
@ 14
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Options :



1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072606
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 53307215434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are not the examples of Positive - Transfer of Learning ?
(A) Learning of Piano makes it more difficult to learn the violin

(B) Mastering Algebra helps in understanding Calculus

(C) Knowing how to drive a car makes it harder to learn how to ride a bicycle
(D) Learning to speak French hinders learning Spanish

Choose the correct answer from the options given below :

(I) (B) and (D) Only

(2) (A), (C) and (D) Only

(3) (B), (C) and (D) Only

(4) (A)and (C) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307215434 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 7 Question Id : 53307215435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A web-based e-learning application allowing users to select a video and customize it by editing,
cropping, recording their own audio and adding quiz questions directly to the video stream is
known as:

(I) ED puzzle
(2) Mindmeister
(3) Miro

(4) Labster

Options:
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307215435 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 53307215436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process mostly completed within several hours, but which can last for years, which fixes
information in long-term memory is known as :

(I) Repression

(2) Episodic memory

(3) Consolidation

(

4)  Retroactive interference

Options:
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307215436 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 9 Question Id : 53307215437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In an online course, a teacher wants to organize weekly readings, quizzes and discussion forums
for students. Which of the following platforms would be most suitable for managing these activities ?
(A) Schoology

(B) Blackboard learn

(C) Zoom

(D) Canvas

(E) Moodle

Choose the correct answer from the options given below :
(I) (C), (D) and (E) Only

(2) (A), (B) and (C) Only

(3) (A), (B), (D) and (E) Only

4 (0 and D) Only

Options:

1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307215437 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 10 Question Id : 53307215438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
(Swayamprabha Channel No.) (Theme)
(A) Channel 8 (I)  Applied Sciences
(B) Channel 9 (I)  Social Sciences and Humanities
(C) Channel 10 (I) Life Science
(D) Channel 11 (IV) Physical and Earth Sciences

Choose the correct answer from the options given below :
(A)-(H), B)(ID), (©)-(IV), (D)-(0)

1), (BI-(I), (C)-(IL), (D)-IV)

(i), (B)-(Iv), (CH1D), (D)-(1)

(IV), (B

(A
(A
(AHIV), (B)-(IH), (C-I), (D)

!
A)

Options :



1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307215438 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A)-(I), (B)-(ID), (C)-(V), (D)-0)
(2) (A0, (B)-(I), (O-(I), (D)-(IV)
(3)  (A)-(Im), (B)-(IV), (O)-(II), (D)-(I)
@) (A1), (B)AIL), (O)-(D), (D)-(I)

Options:
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 53307215439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to UGC Regulations 2018 on Plagiarism, Which of the following percentages of similarity

in a research article would result in denial of one annual increment to a university teacher ?
(1) 62%

2 2

(3) 48%
(4) 18%
Options :
1.1



2.2
3.3
4.4

Question Number : 11 Question Id : 53307215439 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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() 62%

(2) 34%
(3) 48%
(4) 18%
Options :
1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307215440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following types of sampling is likely to have maximum bias ?
(I) Simple random sampling

(2)

(3) Snowball sampling
(4)

Options :

1.1

2.2

3.3
4.4

Stratified random sampling

Cluster random sampling

Question Number : 12 Question Id : 53307215440 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307215441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the threats to interal validity associated with participants in a study.
(A) Testing threat

(B) Selection threat

(C) History threat

(D) Attrition threat

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (), (C) and (D) Only
() (A), (B) and (D) Only
(4) (A), (C) and (D) Only
Options:

1.1

2.2

3.3

4.4

Question Number : 13 Question Id : 53307215441 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(C) sfierd HaiHl wR
(D) HeH FaHT T
A1 fou U feeredi H 9 W& IO ol = 1T
(1) @ (A), (B) 3R (C)
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(4) A (A), (C) ¥R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 14 Question Id : 53307215442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Arrange the data sets with following means (x) and standard deviations (o) in increasing order of

their coefficients of variation :
(A) 0=37, y =2
B) =43 1 =12
(C) =52 ¥ =35

(D) o=61, y = 40

Choose the correct answer from the options given below :
() (A), ), (C) (D)

@ (), (C) O) (A

@) (© (D) ®) (4)

() (D) (©) @A) ©)

Options :

1.1

2.2

3.3



4.4

Question Number : 14 Question Id : 53307215442 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 15 Question Id : 53307215443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
(Variable) (Description)
(A) Dichotomous variable ~ (I) s causally influenced by another variable
(B) Independent variable () Where distances between categories are identical across
its range of categories
(C)  Dependent variable (Il) Has just two categories
(D) Interval variable (IV) Has a causal impact on another variable

Choose the correct answer from the options given below :
(1) (A}(D), (B)-(T), (CHI), D)-(IV)
2) (A, (BHI), (CHIV), (D)
3) (A)), (B}IV), (CH), (DH(I)
4) (AHD, (B}, (CHIV), (DHI)

Options :
1.1
2.2
3.3
4.4

A

@ (@A
G |
4 (@A

Question Number : 15 Question Id : 53307215443 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (AHD), B)-(L), (©)-1), (D)-(IV)

(2) (A, (B)(I), (CHIV), (DHI)
(3) (A, (BIV), (O-(D), (D)-()
(@) (A0, B)HL), (CHIV), (D)-(I)

Options :



1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307215444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The interactive technologies are responsible for the appearance of :
(I) Traditional media age

(2) Broadcast media age

(3) Market media age

(4)

Second media age

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307215444 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I -fRaTerss drenfierai g smma & foe SeRert £2
(1) 9RwfeR Hifear g
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Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307215445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The interactive society is based on integration of :
(I) Multiple communication modes

(2) Dual communication restrictions

(3) Single purpose audience

(4) Varied face-to-face options

Options :

1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307215445 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TFHaTeHs THS fohEeh QiR T SMMeid © ?
(1) =gfaY FeIw 7y

(2) 59 TEwY G ufqey
(3) TH YA a1l AR
(4) Tafay qE=Ta fawe
Options:

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307215446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The post-modern mass media have the characteristics of :
(A) Immobility

(B) Mobility

(C) Globalisation

(D) Simulation

(E) Linearity

Choose the correct answer from the options given below :

(1) (A), (B), (C) Only

(2) (B), (C), (D) Only
(3) (), (D), (E) Only
(4)  (A), (C), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 18 Question Id : 53307215446 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

IR T Hifea 1w fosmar € 2
(A)  aTTfasierd

(B) TIfaefieral

(C) AT

(D) ST

(E) figeka

= feu TTu fomredl § € Wl AT o1 = HieT
(1) 9 (A), (B), (O)

(2) 9 (B), (C), (D)
(3) de (C), (D), (E)
(4) A (A), (O), (B)
Options :

1.1

2.2

3.3



4.4

Question Number : 19 Question Id : 53307215447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the chronological sequence of the following communication devices :

(A) Audio cassettes

(B) Long playing record

(C) Magnetic tape

(D) Compact discs

(E) MP3

Choose the correct answer from the options given below :
(1) (A), (®), ©), [E), D)
(2) (B), (D) (E), (A), (C)
@3) (€, (B) (A), (D), (E)
(4) (D) (E) (B), (©) (A)
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307215447 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A4 feu e forkedi # @ @& IO 6 =2 HIf ;

(1) (A), (B), (©), (E), (D)

(2)  (B), (D), (B), (A), (O)
3)  (©), (B) (A), (D), (E)
4) (D) (E) (B), (O) (A)



Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 53307215448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - 1.

List - 1 List - 11
(Concept of profit) (Description)
(A) Synergy () Strong incentive to replicate a successful format
(B) Planned obsolescence (I) Media obsession with sensationalism
(C)  Logic of safety (Il) Horizontal integration of subsidiary media companies
(D) Spectacle (IV) Planned Phasing out of product

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(1), (C)-(I), (D)-(IV)

(2)  (AHI), @), ©)-1v), (D)-0)
(3)  (A)-{II), (B)-(IV), (CH), (D))
(4)  (AHIV), (BHI), (C1(I), (D}II)
Options :

1.1

2.2

3.3

4.4

Question Number : 20 Question Id : 53307215448 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Teft-1 ¥ Ga-11 2 el e .
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(1) (A, (B-I), (CHIL), (D)-{LV)
(2) (A, B, (C)-1V), (D)-0)
(3) (A}, (BHIV), (CHD), D}I)
(4)  (AHIV), (B)-(1), (C)-(1), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307215449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - I1

(Expression) (Value)
(A) 0.5x0.05x0.005x50 (I) 154.15125
(B) 5.55%x55.5%x55 (II) 16941.375
(C) 5.05%x5.55x5.5 (LIT) 1678.875
(D) 55xX55%555 (IV) 0.00625

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)-(D), (D)-(1I)
(2)  (A)-(1), (B)-(IL), (C)-(1V), (D)-(I)
(3)  (A)-(IV), (B)-(1D), (C)-(I), (D)~(1LI)
(4)  (A)-(IV), (B)-(III), (C)~(1D), (D)-(I)

Options :
1.1



2.2
3.3
4.4

Question Number : 21 Question Id : 53307215449 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qat-1 9 gait-11 =1 e =i
eI -1
(=T ) (W)
(A) 05%0.05x0.005x50 (I) 154.15125
(B) 5.55x%55.5%55 () 16941.375
() 5.05%5.55%55 (L) 1678.875
(D} B5XB5EXE55 (IV) 0.00625

= feu v fawedi § 9 WaE SO ol 999 Fifau :
(1)  (A)-(IV), (B)~(IL), (C)(1), (D)~(II)
(2) (A1), (B)-(LID), (O)-(IV), (D)-(I)
(3)  (A)-(IV), (B)~(1T), (O)-(I), (D)~(11)
(4)  (A)-(IV), (B)~(I), (O)~(1T), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307215450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the number that can be inserted at the place of question mark (?) in the series given below :

g0 250l
346
(1 3
5 3
QA 3
(3) 2
59



Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 53307215450 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7l o 1T 0 H T A WM (7) T G S G a9 Ge 1 9

(E89 .0
2 3 4 6
() 3
o o
12
(3) 2
29
4 75
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307215451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true ?
(A) A single discount, equivalent to a series of discounts of 20%, 10% and 5%, is 35%.

(B) If after two successive discounts of 12% and 5%, an article was sold for ¥ 209, then the
otiginal price of the article is T 0.

(C) Ifa shopkeeper allows two successive discounts of 5% each on the marked price of ¥ 80, the
selling price of the article is ¥ 75.

(D) If the difference between a single discount of 35% and two successive discounts of 20% on a
certain bill is ¥ 22, then the total amount of the bill is T 2200.

Choose the correct answer from the options given below :
(I) (A), (B) and (C) Only

(2)  (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307215451 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R R Rk i

(A) 20%10% T8 5% 1 A G2 o FAGed Tl 92 35% &

(B) 7 12% T 5% % 3 i 3  oIC T o A T 209/- ¥ o7 ™, T A H [ I
T00/- §

(C) e T THARR T 80 - F ek qTd TS AR 5% 0 T2 31 &, o] ;¢ fop A T 75 /- %

(D) T Hiwa forel W 35% %1 That g2 R 20% A <) 6 Gl o WA R 3 20/- &, 7@ forer Al
% T T 2200/- &

el e e e o 9 WY SR o < I
) A) (BT ()

2) AT ()

3) B)T (D)

Ea
S
EE
4 @ (C) T (D)

( (
( (
( (
( (

Options :



1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307215452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a certain coded language :

“Indian cuisines are good” is coded as : “MI CI F1 GI”

“They like Indian cuisines” is coded as : “Al LI MI CI”

“People like Indian Chinese” is coded as : “PI LI MI HI”

“They and people are best” is coded as : “Al DI PI FI BI”

How the words "good” Chinese” and "cuisines” are coded in this language ?

(1) Gl Hland ClI

(2) Al Lland FI

(3) ML, DI and BI
(4) HI, Cland LI
Options:

1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307215452 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereft e o A

“Indian cuisines are good” %I Feog He H “MICl FIGI” forg e @
“They like Indian cuisines” I F2dG HIE H “Al LI MI CI” foran S &
“People like Indian Chinese” FI F2dg & § “PI LI MI HI” feran S &
“They and people are best” Ea) FdG %1€ § “Al DI PI FI BI” foran wmen €
‘good’, “Chinese’ T§ ‘cuisines’ J&5] &1 39 991§ FY Fedg fhan o ?

(1) GIHITECI
(2) AL LITSFI
(3) MI, DIUd BI
(4) HI, CIus LI

Options :

1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307215453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The average age of a group of workers is 42 yrs. If eight (8) new workers of average age of 36 yrs.
join the group, the average age of the group becomes 40 yrs. Find the number of workers initially
present in the group :

() 17

(2) 16

(3) 18
4) 20
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307215453 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T 91 HE 1 3010 g 4290 €1 3G 36 7 31 S 31 a1 § (372) T A1 3 e § i
o & 1 9 o it o 40 B W €1 g e wufeem st % e wau

() 17

(2) 16
(3) 18
(4) 20
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307215454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

”Accordjng to some newspapers tnday the Crime rate in New York has slightly increased in the
recent past. New Yorkers are nothing but a bunch of criminals”. Which fallacy is committed in
the above statement ?

(I) Slippery slope

(2) Appeal to Inappropriate Authority
(3) Hasty Generalization

(4) Strawman

Options:

1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307215454 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 71 5 WA % SRR ek § T Tl H S A 9 9 T & | =g o S & U
e & Sfafta 33 T 1" S o § e e o T 2

(1) e B

(2) ST R F o

(3) o QT

) TR ()



Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307215455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?

(A)  An argument is sound when it is valid and has only true premises

(B) Inan argument truth of its conclusion determines its validity by itself.
(C) Some valid arguments have false premises and a true conclusion

(D) Some invalid arguments have false premises and a true conclusion
Choose the correct answer from the options given below :

(1) (A), (C) and (D) Only

(2) (A), (B) and (C) Only

(3) (B) and (C) Only

(4) (A), (B) and (D) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307215455 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafas § § FF9 Fo6 T §72

(A) T gf 29 € ST U8 94 B IR Fad o AR Wl o |
(B) ot gfsa o 3w Frerd o1 v @4 goet duan fauifa @ €1
(C) FB Iy gfFadi o SUEHE 579 3R f7ehd 9 2 € |
(D) F3 Y it 1 anenfishd e iR frepd wca 2 €
A fou U okl ¥ | W@ SO 1 994 HifU

(1) %4 (A), () ¥R (D)

(2) e (A), (B) 3R (C)

(3) %A (B) 3R (Q)

(4) 9@ (A), (B) ¥R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 28 Question Id : 53307215456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of decreasing extension.
(A) Sonnet

(B) Poem

(C) Verse

(D) Literature

Choose the correct answer from the options given below :

(1) (A) (B) (©) (D)

2 (D), (©), (B), {A)
(3) (D) (B), (A), (C
(4) (A) (B), (D), {C)
Options:

1.1

2.2

3.3

4.4



Question Number : 28 Question Id : 53307215456 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeaa = awae & =ed gu %0 ¥ srafem it
(A) =EI-94l (HF2)

(B) #Hfaa

(C) =

(D) wrfed

A= fou TTq foreredl # | W& 3T Rl =9 IS

(1) (A) (B), (O, (D)

(2) (D), (©), (B), (A)

(3) (D), (B), (A), (O

4) (A) (B), (D), (©

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307215457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(Informal fallacy) (Reason)
(A) Argument from Ignorance (I) Presumption
(B) Appeal to Emotion ()  Ambiguity
(C) Fallacy of Division (IlT) Relevance
(D) Begging the Question (IV) Defective Induction

Choose the correct answer from the options given below :
(1) (A)-(1V), (B)-(1D), (O)-(ID), (D)-T)

(2)  (A)-(IV), (B)-(I), (C)-(LI), (D)-(IT)

@) (A)(D), (B)-(IL), (C)-(ID), (D)-(IV)

(4)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(1)

Options :

1.1

2.2



3.3
4.4

Question Number : 29 Question Id : 53307215457 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Teil-1 THi-11
( 3R dehard ) ( =TT )
(A)  sfvar § Ffor () e
(B) HAIVTE E (I)  sregeeal
(C) TawrsH weha (II1)  wrefireRa
(D) 3TeHISE T (IV) Ffeqol e

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1)  (A)(LV), (B)-(1I), (O)-(11L), (D)-(I)
(2)  (AMIV), (B)~(I), (C)-(1L), (D)-(IL)
(3) (A1), (B)-(LI), (C)-(1I), (D)-(IV)
4) (A)-(IV), (B)-(1I), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307215458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Nyaya logic, which of the following statements is fallacious because it involves a non-
inferentially contradicted middle term ?

(1)  The hill has fire because it is knowable
(2) Fire is cold because it is a substance

(3)  All things are non-eternal because they are knowable
(4)  Sound is eternal because it is audible

Options :

1.1

2.2



3.3
4.4

Question Number : 30 Question Id : 53307215458 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T TR o S FAAferia ) e e ook 39 U & e 6 -SRI A 7
&

(1) TR R 3 ¢ FiF T A T

(2) om Yo & i 7 T WY R

(3) 9 U TRy € i A FAE

(4) af v ¢ A 7% 9 €|

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307215459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to computer networking, which of the following statements is true of an Intranet.

(I) Itisa network within an organization that uses Internet protocols and technologies.

(2) Itis anetwork that covers a wide area with the help of rented telecommunication lines.

(3) Itis anetwork where a computer is connected to the Internet and acts as a gateway for other
devices.

(4) Itis a widely available public network of interconnected computer networks.

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307215459 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Fget Tk & oo § F 1 4 dove gad R 1 F e 98 R

(1) 8§ & Wit 1 o ¢ Sl 32072 Werhiel @ renmiieRal o Jam & @

2) % T "9 & W (RO I AR A B Wer W U S A 1 S e ¢
3) T U Tea ¢ el HUI 3201 U T A & S o AR o e e ok e
4) T TO- WA R 2] 1 ATH T § 3G AR e &

Options :

1.1

2.2

3.3
4.4

(
(
(

Question Number : 32 Question Id : 53307215460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion is incorrectly matched ?
(1) CDROM - Computer Disk Read Only Memory

(2) CRT - Cathode Ray Tube

(3) MICR - Magnetic Ink Character Recognition
(4) AVI- Audio Video Interleave

Options:

1.1

2.2

3.3

4.4

Question Number : 32 Question Id : 53307215460 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ufteft 3R SueF fawar &1 1 ¥ ¥ %60 | g gafea Tl 82
(1) H1 7 3R 30l O - &g fewer e siHal 36l

(2) H R F - FAE L T

(3) TUH 3 Gl 3R - WHEF Tk h{det RHeH
(4) TH IR - sifedr difedl st

Options :

1.1

2.2



3.3
4.4

Question Number : 33 Question Id : 53307215461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dent'Lfy the sequence of words A-E that correcl‘ly fills the blanks n the following paragraph ;

An operating system that uses windows, icons, menus and pointers for human - computer
interaction, is known as . Post-WIMP inter-faces found on devices like iPads, iPods
and mobile phone make use of technology that allows us to use our fingers to select
icons and menus. Post-WIMP interfaces allow us touse , totating and swiping
techniques. The technology that allows users to store documents, programs and data on Internet
is known as . Documents created using Google Docs are stored _ _on the

Internet and can be accessed anywhere and at any time.
(A) Touch Screen

(B) Cloud Computing
(€) GUI
(
(

e

D) Remotely
E) Pinching
Choose the correct answer from the options given below :
1) (© (A E) 0) @

) (4,0, 0) @)
) () (0).(0) (B (A
' ) (B), D

( )
( )
@ (€ (A) ), B), D)
Options :

1.1

2.2

3.3

4.4

Question Number : 33 Question Id : 53307215461 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AE Y& % 0 1 Teem it o fey e o fra T R w o R

G- ST ) TS, e, W @ Wt o1 A 0 el e Jome R

T T o €1 o e, o1 e iR W R S AR R R T e -2 o o 1 3
TrENfiTR! o S o € 0 g e sffer 2 A o o B9 R S €1 O v o

w O Ze0h o U 9 U T A A EE < ¢ TR e W e,

TV 9 ST e 4t ST < ol e H & H T G | T S A

T Yo 32T W W & & O T 7 Tl o o o of T 1w g

4 fou U foped & 0 WG W 1 T HC

(1) (©(A), E) D) B)

2) (A)(C), D), (B) E)

, (D), (C) (E), (A)
D)

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 53307215462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following devices are computer input devices only ?
(A) DVD-R

(B) Joystick

(C) Plotter

(D) Touch Pad

(E) Microphone

Choose the correct answer from the options given below :
(1) (A), (D) and (E) Only

(2 (B), (D) and (E) Only

(3)  (A), (B) and (C) Only

(4) (B), (C), (D) and (E) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307215462 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

=1 8 3 = O gfgaa Faa e 1 gfaa € €2
(A) EralE - AN

(B) wafE®

(C) =X

(D) 2z Yg

(E) HIZhITIA

e feu T faekedi § € W& IO 999 HIa ;

(1) <= (A), (D) 3R (B)

(2) & (B), (D) ¥R (E)
(3) e (A), (B) ¥R (C)
(4) 9 (B), (C), (D) 3R (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 35 Question Id : 53307215463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List-1I
(Error Message in MS-EXCEL) (Error Description)
(A) #HHH# (I)  When the formula contains a cell reference that is
pointing to an invalid cell
(B) #VALUE! (II) When you divide a number by a cell that points to
an empty cell
(C) #REF! () When the arithmetic formula contains text instead
of a number
(D) #DIV/O (IV) When the cell contains a number that is too wide for

the result to be displayed
Choose the correct answer from the options given below :
(1) (AJ-{I), (B}IV), (CH(L), (D)-(1)
2) (AHIV), (B, (CH(L), (D}(I)
3) (A0, (B)-(IV), (CH(I), (DHI)
1) (AHIV), (BH), (), (D)

Options :
1.1
2.2
3.3
4.4

@ |
G
@

Question Number : 35 Question Id : 53307215463 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



el ¥ -1 1 e e

Tl Tl
(T TR T W e W) (7fe faron)
(A) #hshs () ¥ VTS e B & W) oY e A A 3
HEAMNE
(B) #VALUE () ¥ oM & Fen F g § favife & € 9 fs
TS ol R 3 A
(C) #REF! () 7@ SRt 3§ Ge o WH T R () &
(D) #DIV/O (IV) 4 T3 # 3o ot forga e €, e oftomm
Wi 7 o 1 W6
A fou T forsredi B W@ TR T Fi
(1) (AH), (BHLV), (CHID, (D)
(@ (AHIV), (B)-L), (CHI), (DHI)
() (A1), (BRIV), (C}(I), (D)-(I)
() (AHIV), (B)-1), (CHIL), (DHI)
Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307215464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Pure rain water is naturally :
(1) Mild Acidic

(2) Mild Basic

(3) Neutral

(4) Strong Acidic

Options:
1.1
2.2
3.3
4.4



Question Number : 36 Question Id : 53307215464 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fagrs aul S/t yrkfas w9 | 1 g1 € ?
(1) ¥g 3™

(2) He A

(3) =RIEH

(4) fa sr=i™

Options :
1.1
2.2

3.3
4.4

Question Number : 37 Question Id : 53307215465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Presence of Lead in drinking water can adversely affect the human health. The three vital systems
in the human body that are most sensitive to Lead are :
(A) Nervous system
(B) Cardio-vascular system
(C) Renal system
(D) Respiratory system
(E) Blood forming system
Choose the correct answer from the options given below :
() (A), (C) and (E) Only
B), (C) and (D) Only
B), (D) and (E) Only
A), (C) and (D) Only

@ |
3
@ |
Options:
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 53307215465 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



STt T T o eI WG T W o 9 S e & | & Ui Fa i W
el YO o i WEeul 7 & -

(A) ¥

(B) -olfeeH

(C) A

(D) A T

(E) T fwim o

7 fou T fomredi @ B W@ TR T Fi

(1)
(2) el
(3) &
W
Options :
1.1

2.2

3.3
4.4

Question Number : 38 Question Id : 53307215466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represent the nutrient contents of a water body at different levels ?
(A) Phototropic

(B)  Eutrophic

(C) Mesotrophic

(D) Chemotrophic

(E)  Oligotrophic

et

Choose the correct answer from the options given below :
(1) (A),(C) and (E) Only

(2) (B), (C) and (D) Only

() (4),(8)and (D) Only

) () (Cand {) Ony

Options :

1.1
2.2



3.3
4.4

Question Number : 38 Question Id : 53307215466 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafee § § FHY v ey ¥ fofis & ® dmes @ ) 2fad w2
(A) W W (BRRIE)

3 e o oot # @ W@ ST 1 T FAC
) I (A), (C) ¥R (E)

) % (B), (C) @R (D)
) (
)

(B)
3) %ad (A), (B) 3R (D)
4) %94 (B), (C) 3R (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307215467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about sound ?
10 decibel (dB) increase in sound is equal to 10 fold increase in sound intensity

B) 20 dB increase in sound is equal to 20 fold increase in sound intensity

The audible sound range is between 20 Hz to 20 kHz
) Sound below 20 Hz is called ultrasound while above 20 kHz is called infrasound
Choose the correct answer from the options given below :
() (4), (8) and (D) Only
(B), (C) and (D) Only
(C), (D) and (E) Only
(A), (C) and (D) Only

(4)

{

(C) Loudness is the human perception of sound intensity
(D)

E

()
()
(4)

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307215467 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreifefian 8 & i Fem i o o f o €7

(A) =¥ 10 <Hew () 9 3fg @&t # dom § 1079 35 F T

(B) ¥ 0 7 33 BF F w H 20T 35 F THE

() arcr et 2 et 1 A JeafieR |

(D) 957 4af 1 39 (W) 20 Hz B 20 kHz F 919 &1

(E) 20 Hz % A4 et 1 T0eaf Fe) S €, ol 20 kHz & T 5 9 33-5a Hgl 0 ¢
1 few T foeredl o 9 T S A T FI

(1) 3 (A), (B) 4 D)
(2) # (), (C) ¥R ()
() % (C), (D) 4R E)
(&) a (A), (C) 4R (D)

ﬁ%ﬁ%ﬁ

Options :
1.1
2.2
3.3



4.4

Question Number : 40 Question Id : 53307215468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following green house gases trapped in large quantity in permafrost and hydrates
will likely be released in atmosphere due to global warming ?

(I)  Nitrous Oxide (N,O)

(2) Methane (CH,)

(3)  Chlorofluorocarbons (CFCs)
(4) Hydrofluorocarbons (HFCs)
Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307215468 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 19 (el ) o 7 el o qfy (eree) it e o et e o 4 e
T 198 179 o Foart &1 a1 et 22

o

T2y SRS (N,0)

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307215469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Council of Education (in India) sought the establishment of a university in :
(I) Bengal Presidency

(2) Bombay Presidency

(3) Madras Presidency

(4) North-Western provinces

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307215469 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

foren ftwe (v ) 3 Fefafed § | fg o v favalamem & = & g fe?

(1) o gree=r
(2) a g
(3) wErE yfEe
(4) FR-ufeE o= o
Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 53307215470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to the New Education Policy, 2020, who among the following must be at the centre of
fundamental reforms in the education system ?

(I) Policy makers

(2) Teachers

(3) Industry leaders

(4)  Administrators

Options :

1.1
2.2



3.3
4.4

Question Number : 42 Question Id : 53307215470 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

it fine A 2020 % S8R, 17§ © o Aeger qomedt § v G o o H G e

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 53307215471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Anglican Missionary Societies were most involved in teaching in high
schools and colleges across North India in later part of Ninetieth country ?
(A) The Church Missionary Society

(B) The London Missionary Society

(C) Society for the propagation of the Gospel

(D) The Cambridge Mission to Delhi

Choose the correct answer from the options given below :

(I) (A)and (B) Only

()60 0

(3) (C) and (D) Only

(4)  (A), (C) and (D) Only

Options :
1.1
2.2
3.3
4.4



Question Number : 43 Question Id : 53307215471 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

et o 4 - ol () fror et 19 vt 1t et o e R o A 3=
foremerai wa et o e o st fmfor o 7
(A) T frmth St

(B) & e frordl wrme

(€ S i & 9 i 3 e

(D) e it fire 2 fecet

A1 few T ol W 9 e S 1 T I
(1) 3 (4) 3R (B)

@ () @), (), D)

() @ (C) &R (D)

(@) @ (4) (O D)

Options :

1.1

2.2

3.3
4.4

Question Number : 44 Question Id : 53307215472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find out the chronological order of the following agencies of educational administration in British
[ndia.

(A) University Board

(B) Board of Governors

(C) Committee of Native Education

(D) Council of Education

(E)  Department of Public Instruction

Choose the correct answer from the oplmns gwen below :

(1) (&) (€ ) (E) ()
@ @), () ©) A), )
() © (), 0), () ()
(4) ) () B) Q) A)

Options :



1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 53307215472 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

forfest Wi W 91 9ifark T9me 1 TS T9di 1 FHIcTsh{Hs ®9 H o0 ;
(A) fovafaaram are

(B) dIE 3 MY

(C) <t fren =1 wfwfa

(D) foien gRug

(E) Wi e &1 fasm

A e T ferpedi @ | W I 1 = I
(1) (A), (©), (D), (E), (B)

2 (B), (E), (O) (A), (D)

3)  (©), (A), D), (B), (E)

4) (D), (E), (B), (O), (A)

Options:

1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307215473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(Author) (Ancient Text)
(A) Gotama (I)  VaiSesika sutras
(B) Patanjali (II) Nyaya sutra
(C) Kautilya (III) Yoga sulra
(D) Kapad (IV) Arthasastra

Choose the correct answer from the options given below :
(1)  (A)-(IL), (B)~(1D), (C)-(IV), (D)-(I)

(2) (A1), (B)-(I1I), (O)-(IV), (D)-(I)

(3)  (A)-(II), (B)~(ID), (C)-~(I), (D)~(IV)

(4) (A)-(10), (B)-(IV), (C)-(I1I), (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 45 Question Id : 53307215473 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Tl
(TG ) (U= TS )
(A) T () s g
(B) Tdsiiel () =g
(C) ife™ (LI1) =r g
(D) FUE (IV) 3o

=1 feu U foehedi § € Wél IO ol T FHI9T
(1) (A)-(), (B)-(1D), (©)-(1V), (D)-(I)

(2) (A1), (B)-(IL), (C)-(IV), (D)-(I)

(3)  (A)-(II), (B)-(ID), (O)-(), (D)-(IV)

(4) (A1), (B)-(IV), (C)-(I1L), (D)-(I)

Options :

1.1



2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072607
Question Shuffling Allowed : No

Question Id : 53307215474 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow.

Adolescence is the most important period of human life. Poets have described it as the
spring of life of human being and an important era in the total life span. The word adolescence
comes froma Greek word ‘adolescere” which means "to grow to maturity’. A number of definitions
have been given by Psychologists from time to time. Some Psychologists define it as the transitional
period of life. The child experiences a number of changes in this transitional period. The period
runs between childhood and adulthood and is some times called the period of teenage.

According to A. T. Jersild “Adolescence is that span of years during which boys and girls
move from childhood to adulthood, mentally, emotionally, socially and physically”.

Chronologically adolescence comes roughly in between the years from 12 to the early 20's,
The onset of adolescence varies from culture to culture depending on the socio-economic conditions
of the country. In this period, great changes occur in all developmental dimensions of the individual.

Sub questions

Question Number : 46 Question Id : 53307215475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term 'adolescence’ means :

(1) A state of bliss

(2)

(3) Moving towards maturity
)

(4

[nnocence of childhood

Detachment from materialistic world

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 53307215476 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

The origin of the world “adolescence’ has come from the following language :
(1) Latin

(2) Greek

(3) Sanskrit

(4) German

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307215477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT. Jersild’s definition regarding adolescence highlights the following :

(I) A child moves from childhood to adulthood, mentally, emotionally, socially and physically.
(2)  Adolescents spend less time in front of the television than other age groups.

(3) Adolescents reject their parents as companions and as a source of advice.
(

4)  Only a minority of adolescents experience some serious psychological issues.

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307215478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Poets have compared adolescence to the following phase of life :
(1) Summer

(2) Winter
(3) Spring
(4) Fall
Options :
1.1

2.2

3.3



4.4

Question Number : 50 Question Id : 53307215479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about adolescence is true ?

(1)  Adolescence is a period in between the years from 12 to the early 20's.
(2) No one can predict exactly when adolescence commences.
(3

(

4)  Adolescence does not include any physical and psychological change.

)  Adolescents are incompetent in tackling science and mathematics puzzles.

Options:
1.1
2.2
3.3
4.4

Question Id : 53307215474 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

i Terior 2Bt S, UaT A W o SR S

feRYIRToReN G e 1 o Ve St €1 i A 38 W e o a6d A e S
A % e g o ¥ A e €1 e v g Ve TeerR’ § for T R
forerert cref 2 & v e ol 2| SRR A SHE- R O 3HE S TR € €
9 WA 38 S % Wepiio-ahiet o 0 H TR A & | 38 Sahifoe § e v S
S VT N €| R oFafel T SR PR 3 o 9 ol 3 € R et ) i
(MG el T |

A, SRfites % AR " TR 9 FIEE § 9 gk AR cgrl T B W,
B ¥, Fo € Y S Y €Y 0 o Y S AR g

HTCTRH o ST, Feruimeren A SR 12 o R e Ry % 20 3 % g ¥ ot 3 oty A
T ToRuITaRen ) 6T < ) W - o feofo & MR R S-S S H ofe- ST
ol & | 39 sty ¥ oo % 9 forpce S § Hew oited 2 €

Sub questions

Question Number : 46 Question Id : 53307215475 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fereTrraren’ veg o 2 €

(1) OTH 3= T A

(2) YA H WA

(3) OfCgeerdl i SR ST

(4)  sifaerarenel gfen § faxfaa
Options :

1.1

2.2

3.3

4.4

Question Number : 47 Question Id : 53307215476 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e’ Wi Y Seafy ety e ¥

(1) wfeq ¥

(2) I (UER) 9
(3) wERdH

(4) “HAH
Options :

1.1

2.2

3.3

4.4

Question Number : 48 Question Id : 53307215477 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fepvIrere & ety ¥ U8, Wfes # v Frefefed #1 S €

(1) T T W & ¥, Wl &9, T &9 9 S I &9 8 a9 § 9w 6
T

(2) ToRI, 374 ST o o @ a1 el el o W W FW o €

(3) oI T - 1 eft S TR 1 E  E9 H SRR

(4) o o HE W g i 5 TR AR R o A R

Options :



1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 53307215478 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ffodl A forumrereen &t g sfeq & frefafed s #1 ¢ -

(1) T 3q
(2) ¥ Y
(3) =Hd F
(4) TS
Options :

1.1

2.2

3.3

4.4

Question Number : 50 Question Id : 53307215479 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fervirrereen % an # frefafae For § 9 $9-1 F9 T 87

(1) Tersimreren 12 5 it 379 § @ i 20 99 %1 31 % o4 F1 3@ & ¢
(2) IS wfesAaTI Tl o G © o ForviNreRen e ST 2l ¢

(3) TR, Torm it i i WeRafEl 1 2ol A H e A g

(4) Forarereen # % Y SR wIeRIe Wit T A ¢

Options :
1.1
2.2
3.3
4.4
History
Section Id : 533072204

Section Number: 2



Section type: Online

Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072608
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307215480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are identified with the Nasatyas of the Rigveda?

1. Asuras

[-2

. Mithras
3. Panis

4. Ashvins
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 53307215480 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad ® 9 o1 B7d¢ & THIANY & 1Y UgdH Hld g2
PR

R

3. T

4. YA

Options :
1.1

—a

[



2.2
3.3
4.4

Question Number : 52 Question Id : 53307215481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following inscription records the entrusting of two sums of money to two shrenis of

weavers of the town of Govardhana for providing the costs of clothing, etc., for a set of twenty
monks ?

1. Mathura inscription of year 28 of Kanishka era
2. Inscription of Ushavadata in the Nasik caves
3. Bandograh inscription of the year 51

4, Kausambi inscription of year 81

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307215481 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fergfcad T 9 o aififer | 20 WK & TG & ol 3% 311G B T e & & fof
TiGeH e B g1 1 o) A0/ Bl & B &l 1 Wil o 1 Jeeha g2

L I 1 257 9 1 7w oAt
2. G TgT 1 SaGd 6l Hieg
3.9 519 B1ieNTe AN

s, 7851 G v

Options :
1.1
2.2
3.3




4.4

Question Number : 53 Question Id : 53307215482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following objects was Not typically found in the copper hoards?

1. Celts
2. Harpoons
3. Antenna Swords

4. Hand axes
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307215482 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafeiad @ O Il 9% Qmraaa a1y ¢/ =y 4 =81 rg Sl 4t
1. 3MCH Peglal

2. AT
3. 4T TAIR
4. 55 Deglgl

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307215483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following inscription carries the signature of Harshavardhana?

1. Madhuban inscription
2. Banskhera inscription
3. Sonepat inscription
4. Navsari inscription

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307215483 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad O f69 aifircig 1 guaed & gxer g2
 HEE S

N

3. g sifyea
4. T9GR] AT

Options :
1.1
2.2
3.3
4.4

==

(g

Question Number : 55 Question Id : 53307215484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A Megalithic pit burial marked by a single large standing stone slab 1s called:

1. Kodaikal
2. Topikal
3. Dolmen

4. Menhir
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 53307215484 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Udhd [q2ITel TS YRR Ufeh dlel HRTUTNIV WS Dl Pl F1 gl Sl 82
. DI
2. CdidId
3. Sl

4. THER

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307215485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following site was famed in Sangam texts for gem and jewellery work?
1. Vanji
2. Kodumanal
3. Kanchi
4. Vraiyur

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 53307215485 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFrwfeifaa o © I R W T H SarERId SR Sy SRR o fere ftig
L. el

2. PIGHHT
3. Bl

R

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307215486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following merchandise was Not imported to India from the western world?

1. Glassware
2. Timber

3. Coral

4. Mediterranean wines
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 53307215486 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FRaRad ¥ Y I TR a YRd H UITe SHTd Y ST 81 & 9l 2
. B & I

2. DIY
3. Jidl (@RA)
4, YALTYIR TRE

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307215487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The representation of Indra and his entourage flying to greet the Buddha in Tushita heaven is
found in which of the following Ajanta caves?

l. Cavel
2. Cave XVI
3. Cave XVII

4. Cave XIX

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 53307215487 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e ¥ T ofell o1 H 1l W & YaH 95 Pl 4R &d 35 3R 311 Had!
&1 350 gU e i T g

1011

2. I XVI
3. WXV
4. T XIX

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307215488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following king is Not mentioned among the kings of Aryavarta in Line 21 of the
Allahabad Prashasti?

1. Rudradeva
2. Meghavarna
3. Chandravarman

4, Ganapatinaga

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307215488 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feiRad H fore 3T &1 Segrae Rl @1 Ufdd 21 H 3l & GgTel § 3o ol o7
1. ¥55d
2. U
3, gaH
4. 7O

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307215489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following king granted five villages to the Nalanda monastery at the instance of
Balaputradeva of Sumatra?

|. Devapala
2. Mahipala
3. Dharmapala

4, Mahendrapala

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 53307215489 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ﬁaﬁf@aﬁﬁ&vwﬁw%mﬁ%mwwmaﬁﬁamw
fpu ey

1. U
2. Higuwd
3, YHUTCT
RGN

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307215490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The celebrated scholar Yamin al-Din Abul-Hasan 1s better known as:

1. Siraji

(i)

. Hasan Nizami

(el

. Isami

4. Amir Khusraw Dihlawi
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307215490 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR AT AT 31cl-di el g9+ &l faferlaa o O forg 1 g ol ST offa g
1. et

2. GO AT
3. g4l
4. 3R G cgedl

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307215491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The principal source for the Arab invasion of Sind in the early eighth century is:

1. Futuh al-Buldan

2. Jawami al-Hikayat

b

. Chach-Nama
4. Tabaqat-1 Nasiri

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307215491 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

MRIYD 314l QdTeg] H e UR 3R THH0T 6T T Hid 6:
1. pdg 3fd-gagH
St efd-fghrd

(g

3. dd-AMHl

4. AEIHTA-U ARE]

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307215492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following foreign traveller described Krishnadeva Raya as “of medium height, and
of fair complexion and good figure, rather fat than thin, he has on his face signs of small pox™?

1. Abdur Razzaq
2. Barbosa

3. Domingo Paes

4. Nicolo Conti

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307215492 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgforfad o 9 fore fael Ot = Fred 31 @1 28 VaR faavu fean a5 wed G, i
quf 3R SIeT IRR & ¥, afcch 309 IS AIC ¥, 39 dgX IR I b G 4

RECATT]
2. R

3, Sl Oy
4. P o<t

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307215493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following sixteenth century chronicler described the sway of the last Sayvid ruler,
Ala al-Din Alam Shah, as extending from Delhi to Palam?

1. Babur
2. Ahmad Yadgar
3. Khidr Khan

4, Igbal Khan

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307215493 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fofoiad A 1 for Oicred] SIdisel & AReTHdd - Sl Jaig I9®, Ie-30d-gH 31
18 P 9 fecell 4 UIeH a0 ke a2

ACICN

2. JgHG TIGiR
3, Rag WA

4. 9dld Wl

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307215494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Persian term for hundi as per text Mirat-i-Ahmadi was :

l. Sufta

(i)

. Chalani
3. Mahmudi

4. Sarrafi
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 53307215494 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fPRTT-U- 380 U4 & YR gl & (ot BRUT Wse T U
. Ul
I IE

3. WAl
4. TRIB]

Options :
1.1
2.2
3.3
4.4

[

Question Number : 66 Question Id : 53307215495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What type of instrument was dandal?

1. Sickle

(i)

. Spade

(el

. Water drawing device

4. Harrow
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 53307215495 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Srsd/giad [hd UhR &I 3UDHI U2
efaar

BIa3l/Hard

[

[

3. Od dig H1dF

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307215496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the first Wazir under Akbar?

1. Shah Mansur

(i)

. Raja Todar Mal

(el

. Mir Fathullah Shirazi

4. Muzaffar Khan
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307215496 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

bR & A UUH TR BIF U2
M8 HPR

RICIERE N

IR hdgearg RS

[

[

(el

4. TR G

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307215497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Khud-Kasht peasants in Rajasthan were know as:

1. Mirasi

(i)

. Thalwahik
3. Gavetl

4. Chaudhari
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307215497 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR | GEhTd fhari &l f6g 91 I SIHE7 ST 41
. Rt

MIGEIRED
3. Iddl
4. TR

Options :
1.1
2.2
3.3
4.4

[

Question Number : 69 Question Id : 53307215498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following is Not associated with the Varkari movement in the region of
Maharashtra?

l. Vigneshvara
2. Eknath
3. Namadeva

4. Inandeva

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307215498 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafiiRad # 9 319 AgRIY H dRa& Sicle 3 9ig 81 o7
L fausR
2. Uy
3. qMcd

4. JHCA

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307215499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who wrote *Chaitanyacharitamitra’, biography of the Vaishnava Saint Chaitanya Deva?
1. Krishnadas Kaviraj
2. Brindavan Das
3. Nand Das
4. Jayananda

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 53307215499 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fobg Wi I Id=cd D sfia-t ~Jdg=Rarem fadl 4
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R EACE AR
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[
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Options:
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307215500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Mughal artist founded the Kishangarh school of painting?

1. Namnsukh

(i)

. Nihal Chand
3. Bhawani Das

4. Pandit Setu
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307215500 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{09 Il SR F [HTe FaAdh el Acil/ARAT DI TG 61 4l
BEERY

AEHCIEH

3. HAHT ¥

4. Ufsd g

Options :
1.1
2.2
3.3
4.4

I3

Question Number : 72 Question Id : 53307215501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Kubrawiya Silsilah was active in the region of:

1. Bengal

(i)

. Kashmuir

(el

. Gujarat
4. Punjab

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307215501 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

DRI R oy &= o gl 41
1. ST

 HRER

(g

3, I_!GIQIFI
4. Gollg

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307215502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In 1861, Robert Knight merged the three newspaper to form Times of India in Bombay. The
newspapers were:

|. Bombay Herald, Bombay Chronicle and Bombay Times
2. Bombay Herald, Bombay Samachar and Bombay Telegraph
3. Bombay Times, Bombay Standard and Bombay Telegraph

4. Bombay Chronicle, Bombay Samachar and Bombay Standard

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 53307215502 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1861 ¥ Va< T3¢ A dH IRGaRT B FHd aive H eT3RY {1 23 ST 3 i e o
3. it T3, it WSS 3R ikl ClivTh

Options :

1.1

2.2

3.3
4.4

Question Number : 74 Question Id : 53307215503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Fort William College in Calcutta, where the civil servants of the company were to receive
training in the literature, science and languages of India, did not find the favour of the Court of
Directors and was merely continued as a language school for Bengal Civil Servants. In which of
the following vear it was closed forever?

1. 1853
2. 1854
3. 1855
4. 1856

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 53307215503 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o H BIC fafrm Piersl, wel e & ffat ol ol 4R & Wfeed, g R
HTT3HT H TR0 AT e 1, eI Had bl I g 31 dul sl ffdd 9adl & fou

g Uh TN Wl o &0 1 oI} 11 FHmfeifea o § for v 78 guen o fou o & fean
T T2

1. 1853
2. 1854
3. 1855
4. 1856

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307215504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The policy of Pax-Britannica pursued by the British during the first half of the 19th century did
not lead to the following events:

. Disbanding of Pindaris
2. Suppression of thugs
3. Disbanding of irregular soliders

4, Banning moneylenders in the rural areas

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307215504 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

19 o cTec] o T SRGIT b GRI e T ST T Tare-frerianr o1 Hifd Fgferfga
T fohg URwe o Uivord g g o

1. fu=Tieal &1 faged
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307215505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following commented at the beginning of the nineteenth century: *A Hindu
woman can go anywhere alone, even in the most crowded places, and she need never fear the
impertinent looks and jokes of idle loungers .... A house inhabited solely by women is a
sanctuary which the most shameless libertine would not dream of violating.”

1. Abbe J.A. Dobols
2. John Malcolm
3. Henry Roberclaw

4, James Outram

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 53307215505 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 8 foer el et o oy Fouaul 1 ot e feg el gl ot o
o el 3, Tgi e b g i3 vt ot o oft o 3 et @ ol ot eval ok
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| 3699, U Sy
2, S Hedhl
3. §I Rl

4, S 33cH

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 53307215506 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Due to the army re-organisation, how much increase in defence expenditure accounted for, of the
total Central and Provincial government revenue in India?

1. 20% -25%
2.25%-30%
3.30% -35%

4,35% - 40%

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307215506 Question Type : MCQ Option Shuffling : No

T TG b RV, YR H el i1 3R Wikt SR ol H & o2 bt el

S S
1. 20% -25%
2. 25% - 30%
3.30% -35%

4.35% - 40%
Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307215507 Question Type : MCQ Option Shuffling : No



Who among the following commented, when India was beginning to layout railways in 1853, as
“truly the forerunner of modern industry™?

I.R. P. Dutt
2. Dadabhai Naoroji
3. Karl Marx

4. V.1 Lenin

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307215507 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W YRA H 1853 1 Ve T2 (90T B geard &1 o 61 o4, o Fferfiaa & ¢ forg feugoft
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307215508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following painted the stork in water colour for Lady Impey?

1. Sheikh Zayn al-Din
2. Bhawani das
3. Ram Das

4. Ghulam Ali Khan
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307215508 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307215509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The rise of modern industry led to the rise of Parsi and Marwari families in India during British
rule. Which of the following Marwari family collaborated with the British firm Rallis?

1. Jatia

2. Jhunjhunwalas
3. Goenkas

4, Tarachand Ghanshyamdas

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307215509 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

{1 ST o SRM MY SaT & Jed § YR o TRl 3R ARATS! UkaRi &1 4 3ed
gafT| fegferaa o § fohg TRt uRvaR o fafew b iy & 91 Towis o

1 ST

2 JE \::5
3. T

4. IRTEG §RAMHCH
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307215510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following report points out:

“The indebtedness leads ultimately to the transfer of land from the agricultural class to the non-
agricultural moneylenders, leading to the creation of landless proletariat with a reduced economic
status. The result is said to be loss of agricultural efficiency, as the moneylenders sublet at a rate
which leaves the cultivators with reduced incentive to raise a good crop.”

. The Central Banking Committee (1931)
2. The Punjab Land Revenue Administration Report (1935)

3. The Land Alienation Act

4. The Bombay Land Revenue Administration Report
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307215510 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgferfd o i feaid = 2 foba: ~Boitre] b SR et it vl 4 s Bl FieRv
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1. e dlfch Gfmfd (1931)

2. U Y XTTed WRITeH R (1935)
3. YfF 3 3t

4. it ¥ o TR RUie

Options :
1.1
2.2
3.3
4.4




Question Number : 82 Question Id : 53307215511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the writer of the famous literary epic, *Megnadbad Kavya’ (1861) ? This epic retold the
story of Ramayana in a way that turned Rama and Lakshmana, the traditional heroes into 'weak-
kneed, passive-aggressive, feminine villains and the demons Ravana and his son Megnad into
majestic masculine, modern heroes.

. Veerasalingam
2. Vishnushastri Chiplunkar

3. Kasiprasad

4. Michael Madhusudan Dutta

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307215511 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Wi eleh HRTdhTed “HEATGaIE SIed” (1861) BT TG Bid U1 38 HEThTod H XA
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TRIET H G 3M1d ¢ Saich Werad 3R G710 3R 3! T HUHIE fR1e, TR,
HYHS ] & T H G 3 ¢
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Options :
1.1
2.2
3.3
4.4




Question Number : 83 Question Id : 53307215512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The film *Bhakt Vidur’ (1921) after a lot censoring and ban was released under new title of :

1. Seth K1 Ladki
2. Dharma Vijay
3. Dharmatma

4. Mahatma
Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 53307215512 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

flp e e fagy (1921) agd O e (wan) ok Hidly & a1e g U 4 ol 61 7
U

| U3 Bl 5l
2. o farg
3. AT

4. Heldl
Options :
1.1
2.2

3.3
4.4

Question Number : 84 Question Id : 53307215513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who wrote a thesis titled “The Problem of the Rupee™ for the University of London?

1. Mahatma Gandhi
2. MLA. Jinnah

3. Dr. B.R. Ambedkar
4. Te) Bahadur Sapru

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307215513 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fora e fayfaererd & folu <vuu &f g9 e O QY Ye forar 4
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307215514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who deliverad the Presidential address at Cow Protection Conference in December 19247

I. Dr. Rajendra Prasad
2. Lala Lajpat Rai
3. Pandit Madan Mohan Malviya

4. Mahtma Gandhi
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307215514 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307215515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Whose book “Kali the Mother’ influenced the great artist Abanindranath Tagore to create the
painting ‘Bharat Mata’ ?

1. Sister Nivedita
2. Sarojini Naidu
3. Pandita Ramabai

4. Bankim Chandra Chatterji

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307215515 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307215516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term ‘Positivism’ is originally derived from the ‘Positivist Philosophy’ enunciated by

1. Auguste Comte
2. Theodor Mommsen
3. Peter Burke

4. Eric Cochrane

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307215516 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TeG YALAE A gRIR0d Yaard g2 Y ogdd ¢
1. 3N DI
2. USSR A
3. iR ah

4. 3R BIARH

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307215517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which country Historism/Historicism developed as a doctrine in the nineteenth century which
holds that history is the key to all knowledge ?

1. France
2. Germany
3. US4

4. Britaln

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307215517 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307215518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who stated, “The great man of the age is the one who can put into words the will of his age, tell

his age, what its will be and accomplish it. What he does is the heart and essence of his age; he
actualises his age?"

1. Bismarck
2. Hegel
3. Gibbon

4. Acton

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307215518 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

8 BT, 30 GG BT HgH i 98 § ol T T I 751 ol Tst H Bl T, T
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1. fewd

2. BT

3. fiTosd

4. Qdc
Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307215519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which out of the following was Not correct about Ranke?
. Ranke counted Thricydides, Luther, Fichte and Niebuhr as his four acknowledged masters.

2. He was a firm believer in the Romantic notion of history as art.

3. He was also critical of the rhetorical approach to history adopted by Renaissance historians.
4. History, for Ranke is concerned with the nation state,

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307215519 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307215520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following eras in the correct chronological order:

A. Chalukya - Vikrama era
B. Gupta era

C. Kalachuri - Chedi era
D. Kollam era

E. Vikrama era

Choose the Correct answer from the options given below:

1.E. B, I AC

(]

B Do BoA

5]

B B A
4.E,B,C,A, D

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 53307215520 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfeRad gt (dadl) o1 9g! PIApHHR Halyd H1|
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Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307215521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Samskaras in the prescribed chronological order of their performance:

A. Simantonnayana
B. Annaprashana
C. Cudakarma

D. Nishkramana

E. Garbhadhana

Choose the Correct answer from the options given below:
I.LE.A.D.B.C
2.AD,B,C.E
3 E; DAL B
4.E,A,B,D.C

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 53307215521 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FRTIRId THRI I I HTied U S o fafgd fobt 0 Ug! reichd H oalyd B |
A, YA
B. STTRM
C. 314
D. (TShAT
E. THIYM
i feu mu fadhedt § 9 Wgt T &1 7 Bt
1. EABB.C
2ADBCE
3JEDACRB

4.E,A,B,D.C

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307215522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Bactrian Greek rulers in correct chronology according to their accession:

A. Menander
B. Hermaeus
C. Euthydemus
D. Demetrius
E. Diodotus

Choose the Correct answer from the options given below:

1.C,D,E,A B
2.E,CA/B,D
FEACHB

4. E €. D.AR



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307215522 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fferRaa - SN TR Bl 370 IHRIEY & TR e HIehH H aaid B

At feu 0 faeed! 9 W1 TR &1 98 BINT:

1.C,D,E,A B
2E.CABD
3.ELA,C,D,B

4.E.C,D,AB
Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307215523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Pala rulers in the correct chronological order of their accession:

A. Madanpala
B. Ramapala
C. Mahipala
D. Devapala

E. Dharmapala

Choose the Correct answer from the options given below:
LEDN ARG
2 EDCRBA
3. DE C.BA
4.D,E,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 53307215523 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. Heq4ld
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C. Aigurd
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E. §HTd
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4.D,E,B,A,C



Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307215524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Sultans of Delhi in chronological order:

A. Ruknuddin

B. Balban

C. Itutmish

D. Razia

E. Nasiruddin Mahmud

Choose the Correct answer from the options given below:

1LAE B €1

b3

A DL EB

e

A E B R
4.C,B,D,E;A

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 53307215524 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A,E, B, C,D

(]

CADEB

[

A E BB

4. C.B, D, E. A
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307215525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following later Mughal rulers in chronological order:

A. Rafi-ud-Daula

B. Jahandar Shah

C. Muhammad Shah
D. Ahmad Shah

E. Farrukhsivar

Choose the Correct answer from the options given below:

1. B, C. B E A

(]

B ECoAB

5]

By By A D

4. E.A B, D, C



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307215525 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. E:A: B D€
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307215526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Sikh Gurus in chronological order:

A. Guru Arjun
B. Guru Amardas
C. Guru Har Rai
D. Guru Angad
E. Guru Ramdev

Choose the Correct answer from the options given below:

LB E B A C

(]

B FoA D

5]

BB A G
4.B,E,A,D,C

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307215526 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307215527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the chronological order:

A. The Nawab of Tonk, Md Ali Khan had to resign in favour of his son.

B. The Gaekwad of Baroda was charged with an attempt to poison the British Resident.
C. A British Resident was forced upon the Maharaja of Kashmir.

D. The Maharaja of Kashmir was forced to resign in favour of Council of Regency.

E. The Government of India interfered in the turbulent affairs of Manipur.

Choose the Correct answer from the options given below:
.A.B,C.D.E
2B, AD.CE
3CEDBA
4.E,D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 53307215527 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. 4B, C;D.E

2.B,A,D,C,E
3.C,E,D,B,A

4.E,D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307215528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events chronologically:

I. Arrival of French Fleet at Surat.
IL. Expulsion of the Portuguese from Hugli.
III. Capture of the island of Goa by the Portuguese.
IV. Foundation of the English East India Company.
V. Appointment of Thomas Roe as official ambassador of James 1 to the Mughal Court.

Choose the Correct answer from the options given below:

I.C,D,E.B.A
2 ED:B.AC
+EBADE

4.D,E,A,C,B



Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307215528 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LGB BA

2ED.BALC
3.C,B,ADE

4.D,E,A,C,B
Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307215529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological sequence:

A. Vernacular Press Act to control seditious vernacular press
B. Age of Consent Act

C. Indian Council Act

D. Morley Minto reforms

E. Partition of Bengal annulled

Choose the Correct answer from the options given below:

1.A,B,C,D,E

(o

AIC B DL E

5]

By s B E
4. B, A, C, D, E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307215529 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafdRad &1 HTARATIR AR B |

A. CRIGIGI UTNRH U &l R A & U daTder Uy tae
B. YgHId &l 3 U

C. YRdIg gRug Ua

D. Hicl-fHuel R

E. §1Td &I [dUTSH I

i feu MU fadhedl © O gat 3R &l 994 SHifoie:

b8 B C D F

(]

BB ILE

[F¥]

A TLE

4.B,A,C,D,E



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307215530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the establishment of Indian Universities in chronological order:

A. Bombay
B. Punjab

C. Allahabad
D. Patna

E. Delhi

Choose the Correct answer from the options given below:

L&, B DB

[iE]

e OB ELE

LS

B E B E D
4.E,D.C,B.A

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 53307215530 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RO faYfaereral &1 RITGT &l HIah AR Jaied H3 |

UL
B. USld
C. qdleldia
D. UcH]
E. fGeadl

= lGu U faheal § O gt IR 1 991 DIl

b8 B G I E

(]

ACB.ILE

[

A BUE, T

4. B D.C.B.A
Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307215531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events in the chronological order:

A. Muslim League begins the “Direct Action Day’.

B. Interim government takes office.

C. Indian Independence Bill passed by the House of Commons.
D. Indian Independence Bill passed by the House of Lords.

E. Indian Independence Bill received Royal assent.

Choose the Correct answer from the options given below:

Lo, By BB

(]

B, A D, CE

5]

.AB,C,DE

4. B, A, C, D, E



Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307215531 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRTIRad ge1ell & BIapHUR Haieyd 1|

A. G ol gRT UG $RATg [Gad IR DT

B. 3{dRH WHR gRI HEHR GHTH|

C. BI3Y 3B HIH-Y gRT HRA™ WdAal i urivd fdar SEm
D. T3 31 AISH BRI HRA T Hfafas uiikd foar S|
E. YR WaAal AETgH o1 gl YA U gl

4 feu U fd eyl § 9 @7 IR &1 99 DIfoIL:

Lo BB CLF

2B, ADCE
A, B IC D E

4. B,A,C,D.E
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307215532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following events in the chronological order:

A. Annie Besant published the “New India’.

B. A Provisional Government of India established in Kabul.
C. Benaras Hindu University established.

D. Sir I.C. Bose founds the Bose Research Institute.

E. The first all India Depressed Classes Conference held.

Choose the Correct answer from the options given below:

1. B,ABLC.D

(]

B ACE D

5]

A B G D E
4. A B,D,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 53307215532 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaiRad ge-redi &1 HIahHT IR HaRYd 1|

A. T feg= 9 g Efsar uaiiid fdhan|

B. BIdd H YR Pl Widd TWHR MU 1 715 |

C. 9°RY fewg fayfd=iera &f RTa|

D. TR 9. Tl 919 gR1 1Y GITH T R HAT|

E. JUY 3{Rac YR GiHd 91 e SISd gl

i feu MU fadhedl © O gat 3R &l 994 SHifoie:

1.B, A, E,C,D

(]

B & C.ED

[F¥]

By T B &

4.8 BLEDUCUE



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307215533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following historians in the chronological order according to their year of birth:

A. SK. Alyangar

B. Radha Kumud Mookerji
C. K.P. Jayaswal

D. H.C. Raychaudhari

E. Jadunath Sarkar

Choose the Correct answer from the options given below:
.LE,AB,C.D
LB EACD
3.A,E.B,D.C
4.B.E.C.D.A

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307215533 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafiRad SfaeraRI &1 39d o a4 & 3JUR Slehd Y Hdd H1

A.TY. &, 3R

B. ¢ $UG TGl
C. &, Ui, ST

D. U4, Il IR
E. WG TRPHR

HH feu U fadeti § O @@t 3T &1 904 DI

1E;A,B,.C.D

2.B,B.AED
3.AEBDC

4.B,E,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307215534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following chapters in the book “What is History” by E.H.Carr in the chronological
order:

A. The Historians and His Facts
B. Society and the Individual

C. History, Science and Morality
D. Causation in History

E. History as Progress

Choose the Correct answer from the options given below:

I.D,A,B.E.C
2.AB,D,CE
3ABCDE

4.B,A,E,C,D



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307215534 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S, 0. DR B (WP le 2o fgke ! H Hafaiad afeqmal &1 SIeidaIuR eaiid &1 |
A & fewia 13 fge ey
B. WIS US ¢ $Eifauard
D. BIoigH 3 ]
E Gy

d U U faded H Y @gT S 1 95 DI

1. DA BB

2ABDBCE
3.ABCDE

4 B.AECD
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307215535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following sites have yielded cylindrical stone drills in the Harappan contexts?

A. Chanhudaro
B. Harappa
C. Dholavira
D. Mohenjodaro
E. Kalibangan
Choose the Correct answer from the options given below:
I. A,Band E only
2.B, C and E only
3.A,B,CandD only
4. A, Cand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 53307215535 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gours Yoy o fafaRad o 9 for Riell W deHidR TR f3d W g2 &7
Aﬁﬂ‘fﬁ
C. ‘Eﬁ?ﬂa‘hT
D. HIgTIG3l
E. DIcia
14 feu MU fased! H ¥ Fol IR BT TG DIIT:
1. hdd A, B 3R E
2. HddB, C AR E
3. AT A. B, C 3R D

4. Had A, C 3RE




Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307215536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following were teachers of the Ajivika Sect?

A. Purana Kashyapa

B. Mallinatha

C. Pakudha Katyayana
D. Neminatha

E. Goshala Maskariputra

Choose the Correct answer from the options given below:

1. A. B and E only

b3

. A, CandE only

[

.B, C, D and E only
4. A, B, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307215536 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fgfIRad § 9 BIH 2ASiifdd GRIGH & AR U2

A. XU HIY
B. HiceH 1Y

C. P BT
D. ATy

E. TN ARGRITA
T fSU U fadedl § U T 3R &1 994 HIfoU:
I.$dd A, B3R E

" HAd A, C 3R E
" $Hdd B, C.D 3R E
4. HAA A, B, D 3R E

Options :
1.1
2.2
3.3
4.4

(]

S

Question Number : 108 Question Id : 53307215537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct for Mahayana or Great Vehicle?

A. The Universe of the Great Vehicle contains numerous Bodhisattvas.

B. Avalokiteshvara is the divine Buddha.

C. Bodhisattva 1s not only a spirit of compassion but also of suffering.

D. Each being must be a lamp into himself and work out his own salvation.
E. The idea of transference of merit is a special features of this school.

Choose the Correct answer from the options given below:

1. A,B,DandE only
2. A.Band D only
3.C.D and E only

4. A, Cand E only



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 53307215537 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[rgfeiad H U S S HerEH U1 fa9d 9% & aR § 9l @

A. EH 96 o STEIUS 1 e 9w g

B. 3fdcilibdR, ot 45 5|

C. 91T A e S DI UG § Sied UlgT i Ui i gl

D. T® ofek] I W4 H U Siud g1 ATGU T U] Gfekd o foft 1 el i
E. HYT 1 URGHRIT &1 Rigld 70 Wl < &I a2y sififcemr g |

i feu T fadhedl 6 U WaT IR P 94 BT
| $dd A, B.D 3IRE

2. $Had A, B IR D
3. %30 C, D ARE
4, BATA. C IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307215538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are true for the Sangam age?

A. Trade activity led to the emergence of a few urban enclaves.

B. The Tamil — Brahmi inscriptions offer brief glimpses into aspects of village life in
Tamilakam.

C. Rulers depended on tribute and plunder for their sustenance.
D. The rulers had full control over the agrarian plains.
E. Sangam age was an age of tribal chiefdoms.

Choose the Correct answer from the options given below:

1.A,DandE only
2.A.B,CandE only
3.B. Cand D only

4.A,C,DandE only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307215538 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Y G & IR ¥ FRiaRad 4 9 &F 4 $YH 9d 62

A. RS A § 8 el s91del I 3 gafll

B. TSl 3fifei, e | Jreior Siiq IR féred A2t STed ¢
C. IS 3 Hdig & fou ¥e 3R e AR A

D. XD bl HFY HeT-T TR guf 10 41|

E. Y B1d S GRER] &1 |

HH feu U fadeti § O @@t 3T &1 904 DI
|.hdd A. D 3R E

0. HAA A, B, C 3R E
3. $dd B, C AR D
4. HddA. C.D3ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307215539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Chaunshat Yogini temples are correct?

A. They are assoclated with the cults of Shakti.

B. Generally, such temples are in the shape of an open circular court enclosed by a peripheral
colonnade with chapels.

C. Such temples are usually found in Central Indian territory.

D. The Chaunshat Yogini temple at Khajuraho is elliptical in plan.

E. They enshrine the images of sixty-four Yoginis.

Choose the Correct answer from the options given below:

[.A,Band Donly
2.B.Cand D only
3.A.B,Cand E only

4.B,C,DandE only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307215539 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



196 AT AR & aR A Fgfefed # 8 o ¥ Hy 961 82

A. 9 Ifad e ¥ Yefa | _
B Hlulgdm:QﬂH’ﬂie@ﬁqmmuﬂiﬂﬁa{mﬁ%ﬁ@ﬂﬁﬁﬁiwmﬁﬁﬁ
fRT G|
. UG A T Al MR 63 H 0 S ¢ |
D. WoRTg et 13 Tl TR ol arar] el |
E. 3H <193 Tifa! &1 wicar @ gidl |
il fu e fadhed! 4§ FT IR 1 TUH il
| %dd A, B IR D
2. BB, C IR D
3.HadA, B, C IRE

4. H9dB,C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307215540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about Vallabhacharya are correct?

A. He was an ardent exponent of the Shaiva cult.
B. He was born near Mathura.

C. He was a Telgu Brahmin.

D. He visited the court of Krishnadeva Raya.

E. His monism was known as Shudh-Advaitvad.

Choose the Correct answer from the options given below:

1. B, C and D only

[~

.C.D and E only
3.A.Band D only
4. A, C and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307215540 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey & §R H FEfiRad § U &H U Y9 Td g2

A. 98 U9 YW & Udd Uldqrad o
B. g AY & [Hdhe S+ 4|

C. dg UP ool SIglu Y|
D. 381 $WIGd I & &R BT HHUT 41 41|

E. 39D UHHRAI Tg-3gddlg & =0 H ST TS 1|
A fu T f9e ol 7 ¥ J8T SR D1 997 SIS0
I.$dd B, C R D

2. Had C. D3R E
3. $dd A, B 3R D
4. HAA A, C 3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307215541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sher Shah during the life time of his father Hasan Khan, was given responsibility to administer
the Pargana of :

A. Chandot
B. Khawaspur
C. Passi

D. Sasaram
E. Satyari

Choose the Correct answer from the options given below:

I. Aand D only
2.Band D only
3.Cand D only

4.Dand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307215541 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YRGBl 3G U 54 GH & Siigard | (HyfeRad H U fhd TR & g &1
[ELEENKARIER

A T

B. WA
C. U

D. 9YRM
E. IR

A fGu T fddvedl H 9§ WaT IR &1 90 BT
| Had A IR D

) HadB IRD
3. %had ¢ AR D
4.hadD IARE

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307215542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. Beginning of historiography in Persian, was prompted by the rise of Arab-speaking
intelligentsia, in the eastern lands of Islamic world.

B. Histories compiled by Abu Said Gardezi & Abul Fazal Baihagi in persian were models for
Indo - Persian historians of Delhi Sultanate.

C. In India, the tradition was began by Fakhr-1-Mudabbir.

D. His two literary works are Sharja-1-Ansab and Chachnama.

E. Jawami ul-Hikayat-wa-Livamiul-Rivaayat of Sadiduddin Muhammad Awfl, belongs to the
category of episodic history with encyclopaedic range.

Choose the Correct answer from the options given below:

I.B. C and E only
2.A,Band D only
3.B,Dand E only

4, A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 53307215542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[gfoad # U I $UH U 6

A, TR ¥ ZET o & o3I, Sl g o dl 4 H o gfgeftfaal o
T & R G 4l |
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C. HRd H 75 TNRI - LA o R e 1 7 4

D. 39 &l Wil BT SRS 3R T g |

E. WiCGe GEMG Hd! Bl ol Jol-feprd. a1 eraifirge-Rarrd fayaisita & &
1 YRTTE Sfeierd 4oft ¥ el g

rd feu o foedl § 9 Tt IR 1 9T il
1. 5dqB, C AR E
2. 9T A, B3R D
3. 9B, D IR E

4 HITA. C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307215543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following served as military posts to protect north-west frontier from the Mongal
invasion under Delhi Sultanate?

A. Dipalpur
B. Debal

C. Lahore
D. Kasur

E. Multan

Choose the Correct answer from the options given below:

I. A, Band C only
2.B, Cand D only
3.A, Cand E only

4.C,Dand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307215543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



(ofeiad § U oM W foel Geard & i AT AT & GG STR-UiH) di ot e
& foru T Aifchar 2
A IR
B.G8q
C. MER
D. PR
E. Hedll
rd few o foedl § 9 Tt I &1 9 Bl
|, B A BIRC
). $9q B, C IR D
3. A, C INE

4. $9dC,DINE

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307215544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about the model Patrimonial-Bureaucratic Empire?

A. Stephen P. Blake has used it to study the nature of Delhi Sultanate and Mughal Empire.
B. Its political freamework 1s heavily drawn on Max Weber's work on the Patrimonial State.
C. Patrimonial domination does not originate in patriarch’s authority over his household.

D. It entails obedience to an office, not a person.

E. To govern successfully, a patrimonial ruler must have at his disposal a body of loyal,
disciplined soldiers,

Choose the Correct answer from the options given below:

I.A CandDonly
2.Dand E only
3.A.Band D only

4.Band E only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307215544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A1 FeT TC fadedl § § Wg S @1 99 PifoiL
1. Hdd A, C 3R D
2. HaAD AR E
3. %40 A, B3R D

4, HaAB IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307215545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following painters adorned the court of Jahangir?

A. Bishan Das

B. Muhammad Sultan
C. Aga Reza

D. Muhammad Murad
E. Sayvid Beg

Choose the Correct answer from the options given below:

1.A, CandE only

(o

.A.Dand E only
3.B.D and E only
4. A, C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307215545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaiRad 9 9 fod FedR] 3 SR &l aR gRNiHd fhar 4

A f9H SN

B. JgHG Yo
C. 3T TSl

D. HEHTG 114
E. 9¥c &7
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1.hdd A, C 3R E

$HIdA, D 3RE

Hdd B, D 3R E

4. Had A, C 3R D
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307215546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct?

A. A striking feature of Tughlaq architecture was the sloping walls called “batter”

B. It was used in all the buildings of the Tughlaq dynasty.

C. The Tughlags used only greystone in their buildings.

D. In the buildings of Firuz Shah Tughlaq, rubble is finished by thick coat of lime plaster which
was colour washed

E. Decorative motif found in all the buildings of Firuz Shah Tughlaq is bell and chain.

Choose the Correct answer from the options given below:

I. Aand C only
2.Band D only
3.Cand E only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307215546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. Had AR C

). B IR D

3. 690 C AN E

4. Hd0 AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307215547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct?

A. In 1837, the gold coins were issued in the name of Queen Victoria,
B. In 1840, the gold and silver coins were issued in the name of Queen Victoria.

C.In 1862. a new series of coins of all denominations and in all three metals was issued with
changed devices.

D. These coins continued to be minted till 1872 or 1874 with the constant date 1862.

E. In I877, while retaining the general design used for the coins so far, the word QUEEN was
substituted with the word EMPRESS on the obverse.

Choose the Correct answer from the options given below:
I.A.B,CandD only
2.B.C.Dand E only
3.C.,Dand E only

4. A, Band C only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 53307215547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.$d A, B, C 3R D
2. HaUB, C.D IR E
3.4t ¢, D AR E
4. aTABHRC

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307215548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following universities. established on the basis of Wood's Education Dispatch of
1854, were based on the model of London University?

A. Calcutta
B. Bombay
C. Madras
D. Punjab
E. Patna

Choose the Correct answer from the options given below:

I. Aand B only
2. A, Band C only
3.A,B.Cand D only

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307215548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3 I {2181 {5809 (1854) o YR R FGfeigd 0 O Y fayfdene de fayfaaray &
Tigd W R fbU e 2

A. heldhl
B. W
C. HalH
D. Uuld
E. Ul

el Fe TC fachedt # 9 gt SR @1 9 BT
1.Hdq A 3R B
2. B A, B AR C
3. %4t A,B,C IR D

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307215549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements regarding Justice Party are correct?

A. Tustice Party was formed in 1916 with a non-Brahman manifesto.

B. It opposed the Congress as a Brahman dominated organization.

C. In the Montagu-Chelmsford reform of 1919, 50 reserved seats were allocated to non-
Brahmans in the Madras Legislative Counil

D. The formation of a ministry in 1920 was the high point in the career of the Justice Party

E. After the electoral defeat in 1926 at the hands of Swarajists, the non-Brahmans left the party
and joined the Congress

Choose the Correct answer from the options given below:
1. A, Band Conly
2.B.Cand D only
3.A, B, Cand D only

4.A,B.Dand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307215549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. %4 A,B,C 4R D
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Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307215550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Urdu Poetry has been responsive to all stages of national historical development. Which of the
following poets, embodied the national aspirations in the poems?

A. Bryj Narain Chakbast
B. Durga Sahai Suroor
C. Hasrat Mohani

D. Md. Ali Jauhar

E. Mir Hasan

Choose the Correct answer from the options given below:

I.A, B, CandD only
2.B,C,Dand E only
3.C,Dand E only

4. Aand Bonly

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307215550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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| B9 A, B.C 3R D
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3.$4d C,D INE
4. B0 A INB

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307215551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which out of the following are correct about Panchsheel ?

A. Mutual respect for each other’s territorial integrity and sovereignty
B. Non-aggression

C. Non-interference in each other’s internal affairs

D. Equality and mutual benefit

E. Peaceful co-existence

Choose the Correct answer from the options given below:

1. A, B, CandE only

I3

.A,C.Dand E only

Tl

.A,B.C.,Dand E
4. A,Band Conly

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307215551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307215552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which out of the following are correct about the Provisional Azad Hind Government?

A. The Provisional Azad Hind Government was announced with headquarters in Singapore.
B. Subhas Chandra Bose became the Prime Minister of this Government,

C. S A Ayer was a Minister in this Government.

D. A C Chatterji was a minister in this Government.

E. Lakshmi Swaminathan was a minister in this cabinet.

Choose the Correct answer from the options given below:

I.Band C only
2.A.B.C.D,E
3.A,B.Cand D only
4.A,Band Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307215552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307215553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which out of the following are correct about R.G. Collingwood’s theory of history?

A. All hustory is the history of process of events.

B. History is concerned with the purposeful actions of individuals.

C. Historian's methods is a detective’s method.

D. The writing of history is through re-enactment of the thoughts of past actors in the minds of
the historian.

E. His philosophy of history has been characterized as ‘radical historicism’.

Choose the Correct answer from the options given below:

[.B,C,DandE only
2.A,B,C,D,E
3.C.Dand E only

4.A,Band Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307215553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. $9a B, C, D AR E
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Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307215554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which out of the following are emphasized by Postmodernism?

A. Multidimensionality
B. Fragmentation

C. Discontinuity

D. Indeterminacy

E. Ephemerality

Choose the Correct answer from the options given below:

1. A.B,Cand D only

(]

.B. C,D and E only

5]

B G DLE
4. B, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307215554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307215555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTII
Books Authors
A | Nitisara I. | Somdeva Suri
B. |Nitishastra [I. | Nayacandra Sur
C. |Hammira- Mahakavva| III. | Shukra
D. | Nitivakvamrita IV. | Kamandaka

Choose the Cerrect answer from the options given below:
1. A-IV, B-IIL, C-II, D-I
2. A-TV, B-11. C-II1, D-I
3. A-L B-IL, C-IV, D-III
4. A-11, B-IV, C-1II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307215555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

E | =
A |FifeER L |gHca gl
B. |Fifgere= 11 |9gds 3
C. |EHRAgIdIA| UL [ IP
D. |difdarmEd | IV. |[dHsS®
i feu U fam el § U Hel IR &l 999 BT

1. A-IV, B-III, C-II, D-I

[

- A-IV, B-11, C-111, D-I

L]

.A-L, B-IL, C-1IV, D-1II

4. A-11, B-1V, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307215556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Words in chronograms | Number they stand for

A |Bhumi (the earth) | 1. |2

B. |Kara (hand) II. |4
C. |Loka (the words) | ITL |1
D. |Veda V. |3

Choose the Correct answer from the options given below:
1. A-IIT, B-1I, C-IV, D-I
2. A-1IL, B-1, C-IV, D-II
3. A-1L, B-1, C-III, D-IV
4. A-II. B-IV, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307215556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

ﬁ-—ﬁﬂﬁrérm mﬁm
A |y g L |2
B. |a= @) IL |4
c. |a® (3% Il |1
D. 3§ V. |3
i feu U f[9edl 4 9 Het SR &1 98 SIS

1. A-IIT, B-II, C-IV, D-I

[

AL B-1, C-IV, D-1I

L]

. A-Il B-1, C-1I1, D-IV

4. A-11, B-1V, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307215557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Minister /Officers Functions
A | Akshapatala I |Finance- home minister

Fupadarshaka II. | Record-cum-audit officer

B
C. |Pautasadhvaksha| III. | Superintendent of weights and measures
D

Samaharta IV. | Inspector of coins

Choose the Correct answer from the options given below:
1. A-II, B-IV, C-III, D-1
2. A-1IL, B-1, C-IV, D-II
3. A-II, B-1IV, C-1, D-III
4. A-III, B-II. C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307215557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-IV, C-III, D-I

ola|w]|»

[

AL B-1, C-IV, D-1I
3. AL B-1V, C-1, D-III

4. A-III, B-II, C-1IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307215558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Temples Places

Dashavatara Temple | I. |Nachna Kuthra

Mahadeva Temple II. |Aihole

Lakshaman Temple | III. |Deogarh

olo|w|»

Megut: Temple IV, | Sirpur

Choose the Correct answer from the options given below:
1. A-IIL, B-1, C-II, D-IV
2. A-IV, B-1II, C-1. D-II
3. A-IL B-I, C-IV, D-III
4. A-II1, B-1, C-IV, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307215558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D. |#ifd Hiex v, |RRgQR
i feu U fam el § U Hel IR &l 999 BT

1. A-IIL B-1, C-II, D-IV

[

CA-TV, B-IL, C-1, D-TI

L]

. A-IL, B-L, C-1V, D-1II

4. A-1I1L, B-1, C-1V, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307215559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

Plishil;is LISTII
A |Balaji Vishwanath| I |Signed Treaty of Bassein with the English.
B. |BajiRaol II. |worked as Sabhasad of Poona.
C. |Balaji Baji Rao | III. | Popularised the ideal of Hindu-Pad-Padshahi
D. [BajtRao 1l IV. | Helped English in crushing the Maratha naval force under Tulaji Angria.

Choose the Correct answer from the options given below:
L. A-IIL B-IV, C-I1, D-I
2. A-IL B-IIL, C-IV, D-1I
3. A1, B-IV, C-III, D-II
4. A-IV, B-L, C-II, D-I1I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307215559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[. A-IIL, B-IV, C-I1, D-I
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2. AL B-IIL, C-IV, D-1
3. A-L, B-IV, C-III, D-TI

4. A-IV, B-I, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307215560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
official function
A |Avagars [ |Village accountant
B. |Karanam II. |Village servant
C. |Redd: ITI. | Tenants
D. |Kudimakkal IV. |Headman

Choose the Correct answer from the options given below:

1. A-11, B-1, C-1V, D-1II
2. A-11, B-III, C-1IV, D-1
3. A-IIL B-I, C-II, D-IV

4. A-1, B-II, C-1V, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307215560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A | 3EATR L |9 oEdR
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c [ 111 | fRmEER
D. |PsHgmIa | IV. [gRaa
i feu U fam el § U Hel IR &l 999 BT

1. A-II, B-I, C-IV, D-III

[

- A-II, B-TII, C-IV, D-1

L]

. A-IIL B-1, C-IL, D-IV

4. A-1, B-1I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307215561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
A |Khayvl I. | The military chamberlin
B. |5ar-1- Silahdar | II. | The military justiciar
C. | Amir- Hajb [II. | Contingent
D. | Amir-1 dad IV. | The chief armour- bearer

Choose the Correct answer from the options given below:
1. A-I, B-III, C-IV, D-II
2. A-IILL B-1V, C-1, D-1I
3. A-1, B-IIL, C-III, D-IV

4. A-IV, B-I1., C-I, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307215561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-1, B-IlI, C-IV, D-I
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2. A-IIL B-1IV, C-1, D-1I
3. A-1, B-1I, C-I11, D-IV
4. A-IV, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307215562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Fortress of Akbar Year
A [ Jaunpur I 1370
B. |Ajmer Im. |1581
C. |Allahabad ITT. | 1366
D. [Attock IV. | 1583

Choose the Correct answer from the options given below:
1. A-I, B-II, C-IV, D-III
2. A-II, B-1, C-1I, D-IV
3. A-IILL B-1, C-IV, D-II
4. A-IV. B-11I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307215562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

vt | e
A SR L |1570
B. | 3@ I |1581
C. |gamEEE 1L | 1566
D. |Te® V. | 1583
i feu U fam el § U Hel IR &l 999 BT

1. A-I, B-II, C-IV, D-III

[

. A-IIL B-1, C-IL D-1IV

L]

. A-IIL B-1, C-1IV, D-1I

4. A-IV, B-1II, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307215563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Sufi Saints Centre of Activity
A | Qutubuddin Bakhtivar Kaki [. |Ajodhan
B. |Baba Faniduddin Ganj-1- Shakar | II. |Devatalla
C. | Shaikh Jamaluddin III. | Ajmer
D. |Muinuddmn Chisti [V, |Delhi

Choose the correct answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-1, B-1I, C-1V, D-IIT
3. A-II, B-1IV, C-1, D-III
4. A-I1, B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307215563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-1, C-II, D-III

ola|w|»

[

.A-I, B-1I, C-1V, D-III

L]

. A-IIL B-1IV, C-1, D-III

4. A-I1, B-1II, C-1V, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307215564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
Political causes of Revolt of 1857 Area
A |EBight of Conquest [ |Sikkim
B. |Doctrine of Lapse II. |Udaipur
C. |"Good of the Governed™ ITI. |Oudh
D. | Abolition of Regal titles IV, | Tanjore

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV
2. AL B-1, C-1I1, D-IV
3. A-IV, B-1, C-1II, D-1I
4. A-II, B-IV, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307215564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

[

. A-IL, B-1, C-1IL D-IV

3. A-IV, B-1, C-1II, D-II

4. A-11, B-1V, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307215565 Question Type : MCQ Option Shuffling : No



Match the List-I with List-IT

LISTI LISTII
Internationally recognised persons Field of Excellence
A |KS Krishnan I. |Physics
B. |5 S Bhatnagar II. | Chemistry
C. | T 5 Venkataraman III. | Agricultural Science
D. |Birbal Sahm IV, | Paleobotany

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV
2. A1, B-II, C-1V, D-III
3. A-III, B-1I, C-1, D-IV

4. A-IV, B-1I, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307215565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

[

. AL, B-II, C-1V, D-III
3. A-IIL B-11, C-I, D-IV

4. A-IV, B-11, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307215566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
Legislation/ Acts LN

A |Native Marriage Act, 1872 [ |Forbade marriage of girls below the age of 12

B. | Age of Consent Act, 1891 I ?\-JIamage of g1r1ls' below the age of 14 and boys below 18
vears were forbidden

C. | Sharda Act, 1930 m Raised the age of marriage for girls from 15 to 18 and for
boys 1810 21

D Child Marriage Restraint v Pushed the marriage age and provided for penal action in

" |(Amendment) Act, 1978 " | marriage of boys under 18 and girls under 14 vears of age

Choose the Correct answer from the options given below:
I. AL B-II, C-IIL D-IV
2. A-IL B-IIT, C-IV, D-I
3. A-IIL, B-IV, C-I1, D-1
4. AL B-I, C-IV, D-IIT

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 53307215566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L B-II, C-II1, D-IV
2. A-IL B-III, C-IV, D-I
3. AL B-1V, C-I1, D-I

4. A-IL, B-I, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307215567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1I LISTII
Film Director
A | Anand Math (1932 I. |Hemen Gupta
B. |Father India (1930) II. |E S Choudhry
C. |Jai Bharat (1936) ITT. |Homi R Wadia
D. |Jhansi K1 Rani (1953) | IV. | Schrab Modi

Choose the correct answer from the options given below:

1. A-I, B-III, C-IV, D-I
20 A Bl CF DAV
3. AL, B-I, C-IV, D-III
4. A-II, B-I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307215567 Question Type : MCQ Option Shuffling : No
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= |
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1. A-I, B-III, C-IV, D-II

ola|w]|»

[

.A-L, B-IL, C-1IL D-IV

L]

. A-IL, B-L, C-1V, D-1II

4. A-11, B-1, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307215568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

=

Fajendralal Mitra| I |Nationalist School

Suvzobhan Sarkar | II. | Manust School

David Hardiman | III. | Subaltern School

o|o|w

E.obert Orme IV, | Colonialist School

Choose the Correct answer from the options given below:
1. A-1I, B-1V, C-III, D-1
2. A-1, B-1V, C-1I1, D-1II
3. A-II, B-1, C-III, D-IV

4. A-1, B-11, C-I11, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307215568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-IV, C-III, D-I

[

. A-1, B-1V, C-III, D-IT

5]

.A-II, B-1, C-III, D-IV
4. A-L, B-1L, C-IIL D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id
Correct Marks : 2 Wrong Marks : 0

: 53307215569 Question Type : MCQ Option Shuffling : No



Match the List-I with List-IT

LISTI LISTII

=

Arnold Toynbee [. | Study of History

Oswald Spengler | II. | The Decline of the West
E.G. Colingwood | III. | The Idea of Nature
Jacob Burckhardt | IV. | Der Cicerone

o|o|w

Choose the Correct answer from the options given below:
1. A-1I, B-1V, C-III, D-1
2. A-1, B-II, C-III, D-IV
3. A-II, B-1, C-III, D-IV

4. A-1, B-II, C-1IV, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 53307215569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-IV, C-III, D-I

ololw|r

[

. A-1, B-II, C-III, D-IV

5]

.A-II, B-1, C-III, D-IV
4. A-1, B-11I, C-1V, D-II

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 533072609
Question Shuffling Allowed : No

Question Id : 53307215570 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

Read the following passage and answer the questions.

The work begins with the origin of the Chalukya dynasty and goes on to describe in the usual
style of a Mahakavya, the battles fought and the pleasure enjoyed by king Vikramaditya. The last
canto, like the first Uchchhvasa of the Harsha- Charita, gives us an account of the author himself
and his literary adventures, of his family, his country and its rulers. As a piece of history the work
is full of blemishes. It seeks the intervention of Shiva to explain away certain unhappy incidents
in the life of the king. Accurate chronology is also lost in the medley of vague expressions.

Sub questions

Question Number : 141 Question Id : 53307215571 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0
Which text is the passage referring to?

1. Vikramorvashi

[

. Kathasarita-sagar

(]

. Vikramankadeva-Charita
4. Devicandragupta

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307215572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who is the author of the text?

l. Somadeva

[

. Bilhana

(]

. Vishakhadatta

4. Kalidasa
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 53307215573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who was the patron of the author of the text?

1. Mahendravikramavarman of Pallava dynasty

(i)

. Harshvardhana of Vardhana dynasty

(el

. Vikramaditya VI, the Chalukya king of Kalyana
4. Chandragupta II of Gupta dynasty

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307215574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The author belonged to which region?

1. Kashmir

2. Ujjain

LS

. Kanyakubja
4. Kalyana

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307215575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following work is also written by the same author?

1. Pratijnayaugandharayvana

(i)

. Mudra-rakshasa

(el

. Brhatkatha
4. Caurapancashika

Options :
1.1
2.2
3.3
4.4

Question Id : 53307215570 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 53307215571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. QAT

Options :
1.1
2.2
3.3
4.4

[

Question Number : 142 Question Id : 53307215572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y BT TGD DI g2
1. gAed

SER

3. f[aemacs

4. PTG

Options :
1.1
2.2
3.3
4.4

[

Question Number : 143 Question Id : 53307215573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 53307215574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e fhg & 9 gefid g2
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Gl

3. PIADET

4. I

[

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 53307215575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072610
Question Shuffling Allowed : No

[

Question Id : 53307215576 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions.

Although Savarkar himself proceeded to London in 1906, his organisation continued to flourish
in India. It seriously took up the revolutionary activities and tried to spread its branches all over
Maharashtra. It preached the gospel of freedom and sang songs and ballads of freedom, the
refrain of which was “Free India from the foreigners’ yoke™.... There was at that time a network
of secret societies all over the province. Many colleges and higher education institutions had at
least one secret society.... The society’s activities included collection of and training in arms and
explosives wherever and whenever possible. Arms were surreptitiously sent from London by
Savarkar when he settled there in 1906.

Sub questions

Question Number : 146 Question Id : 53307215577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Savarkar translated the life of which personality in Marathi of which 2000 copies were sold in
three months?

1. Napoleon
2. Mazzini

3. Hitler

4. Mussolini

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307215578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Which organisation of VD Savarkar 1s being talked about in the passage?

1. Abhudaya Bharat
2. Adbhut Bharat
3. Abhinav Bharat

4. Anushilan Samiti
Options:
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307215579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which member of the society mentioned in the passage, was sent to Paris to learn the art of bomb
making from Russian revolutionaries?

1. PN Bapat
2. Sachindra Sanyal
3. Amba Prasad

4. Ram Chandra

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307215580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

VD Savarkar graduated from which college?

1. St. Xavier's College

3

. Deccan College

LS

. Nersee Munji College
4. Fergusson College

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 53307215581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In London, VD Savarkar was associated with which organisation?
1. London House
2. India House
3. Ghadar House
4. Independence House

Options :
1.1
2.2
3.3
4.4

Question Id : 53307215576 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 53307215577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 53307215578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307215579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307215580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

[

8]

Question Number : 150 Question Id : 53307215581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4





